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General Awareness

Who is the governor of Punjab ?- V.P. Singh Badnore

Who is the Chief Executive Officer of BCCI (Board of Control for Cricket
in India) ? — Rahul Johri

Who said © Jai Jawan Jai Kissan Jai Vigyan © — Atal Bihari Vajpayee
What is thumba in Kerala ? — Thumba is a small village situated nearby
Thiruvananthapuram airport in Kerala.

Who is the author of © An Era of Darkness” book ? — Sachin Tendulkar
Who is the governor of Maharashtra ?7-C. Vidyasagar Rao

Finance Minister of Haryana State — Captain Abhimanyu

Ram Vilas Paswan belong to which political Party-Lok Janshakti Party

If 21 N force applied on a object having mass 3 Kg. Whose accerelation is
9

Which element has 3 shells and 8 electrons in the last shell? ARGON
(Atomic Number 18=2,8,8)

One question related to the reproductive part of the Flower.

In which field R Ashwin has taken 300 wickets? — Nagpur

In which state PM Modi has inaugurated a Shiv Temple? — Abu Dhabi




Math

Square root of 51847 72

Square root of 7921? 89

If tan A =\2+1 then Find tan A- cot A =

V6084 =78

V7921 = 89

age of father is 38 when boy was born and mother was 36 when girl was

born. girl is 4 1s younger than boy. find difference between age of father
and mother

when 8 is added to a ration 2/3 it becomes 5/7 find highest no of the
original ratio
what must be taken out of 1/2 so that it become 2/3

statement: a notice that all worker have to come at 9am... assumption 1:
they will not any instruction 2. soem will be lat

Il carpenter are worker. all worker are hardworking... conclusion all
carpenper are hardworking some hard working are worker

statment: there are landslide in hilly are so railway is slow assumption 1.
railway should stop in hilly are. 2. precaution must be atken

unit of current

Simplification

Circle

Speed.Distance & Time

Trigonometry

Time & Work

Trigonometry

Percentage

Algebra




Reasoning

Age Problem -2 Qs

Stick is pen, pen is ball and ball is bat, then Raman will write
with?

Coding and Decoding — 1 Qs

Statement Analysis — 5 Qs

Ratio -2 Qs

A school should always have a teacher, Building, Library or
Headmaster?

Completion of sentence — 1 Qs

Odd one out -1 Qs

Counting of triangles

Logical Reasoning

Distance & Direction

Statement & Conclusion

Statement & Arguments

Calendar

Coding Decoding

Blood Relation

Counting of Triangles

Miscellaneous One Question on Syllogism.
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